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=
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=
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MAT

=
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1w(x3)

=
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VCT
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5(VECTOR)3(VctA))*

VCT

1w(Abs)15(VECTOR)
4(VctB)))=

cos–1 Ans

*1 1c(cos–1)G)=

VCT

VctA × VctB

15(VECTOR)3(VctA)*
VCT

15(VECTOR)4(VctB)=

Abs(VctAns)

1w(Abs)15(VECTOR)
VCT

6(VctAns))=

VctAns ÷ Ans

*2 15(VECTOR)
VCT

6(VctAns)/G=

Deg
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#114

01 mp 1.67262158 × 10–27   kg
02 mn 1.67492716 × 10–27   kg
03 me 9.10938188 × 10–31   kg
04 mµ 1.88353109 × 10–28   kg
05 a0 0.5291772083 × 10–10   m
06 h 6.62606876 × 10–34   Js
07 µN 5.05078317 × 10–27   JT–1

08 µB 927.400899 × 10–26   JT–1

09 1.054571596 × 10–34   Js
10 α 7.297352533 × 10–3

11 re 2.817940285 × 10–15   m
12 λc 2.426310215 × 10–12   m
13 γ p 2.67522212 × 108   s–1T–1

14 λcp 1.321409847 × 10–15   m
15 λcn 1.319590898 × 10–15   m
16 R∞ 10973731.568549   m–1

17 u 1.66053873 × 10–27   kg
18 µp 1.410606633 × 10–26   JT–1

19 µe –928.476362 × 10–26   JT–1

20 µn –0.96623640 × 10–26   JT–1

21 µµ –4.49044813 × 10–26   JT–1

22 F 96485.3415   Cmol–1

23 e 1.602176462 × 10–19   C
24 NA 6.02214199 × 1023   mol–1

25 k 1.3806503 × 10–23   JK–1

26 Vm 22.413996 × 10–3   m3 mol–1

27 R 8.314472   Jmol–1 K–1

28 C0 299792458   ms–1

29 C1 3.74177107 × 10–16   Wm2

30 C2 1.4387752 × 10–2   mK
31 σ 5.670400 × 10–8   Wm–2 K–4

32 ε0 8.854187817 × 10–12   Fm–1

33 µ0 12.566370614 × 10–7   NA–2

34 φ 0 2.067833636 × 10–15   Wb
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35 g 9.80665   ms–2

36 G0 7.748091696 × 10–5   S
37 Z0 376.730313461   Ω
38 t 273.15   K
39 G 6.673 × 10–11   m3 kg–1 s–2

40 atm 101325   Pa

#115

17(CONST)

28(c0)=

Math

#116

1/!

Math

17(CONST)
Math

32(ε0)

17(CONST)
Math

33(µ0)

=

Math

MATH

c0 = 1/  ε0   0µMATH
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#117

01 in ' cm 1 [inch] = 2.54 [cm]
02 cm ' in 1 [cm] = (1/2.54) [inch]
03 ft ' m 1 [ft] = 0.3048 [m]
04 m ' ft 1 [m] = (1/0.3048) [ft]
05 yd ' m 1 [yd] = 0.9144 [m]
06 m ' yd 1 [m] = (1/0.9144) [yd]
07 mile ' km 1 [mile] = 1.609344 [km]
08 km ' mile 1 [km] = (1/1.609344) [mile]
09 n mile ' m 1 [n mile] = 1852 [m]
10 m ' n mile 1 [m] = (1/1852) [n mile]
11 acre ' m2 1 [acre] = 4046.856 [m2]
12 m2 ' acre 1 [m2] = (1/4046.856) [acre]
13 gal (US) 'R 1 [gal (US)] = 3.785412 [R]
14 R' gal (US) 1 [R] = (1/3.785412) [gal (US)]
15 gal (UK) 'R 1 [gal (UK)] = 4.54609 [R]
16 R' gal (UK) 1 [R] = (1/4.54609) [gal (UK)]
17 pc ' km 1 [pc] = 3.085678 × 1013 [km]
18 km ' pc 1 [km] = (1/(3.085678 × 1013)) [pc]
19 km/h ' m/s 1 [km/h] = (5/18) [m/s]
20 m/s ' km/h 1 [m/s] = (18/5) [km/h]
21 oz ' g 1 [oz] = 28.34952 [g]
22 g ' oz 1 [g] = (1/28.34952) [oz]
23 lb ' kg 1 [lb] = 0.4535924 [kg]
24 kg ' lb 1 [kg] = (1/0.4535924) [lb]
25 atm ' Pa 1 [atm] = 101325 [Pa]
26 Pa ' atm 1 [Pa] = (1/101325) [atm]
27 mmHg ' Pa 1 [mmHg] = 133.3224 [Pa]
28 Pa ' mmHg 1 [Pa] = (1/133.3224) [mmHg]
29 hp ' kW 1 [hp] = 0.7457 [kW]
30 kW ' hp 1 [kW] = (1/0.7457) [hp]
31 kgf/cm2 ' Pa 1 [kgf/cm2] = 98066.5 [Pa]
32 Pa ' kgf/cm2 1 [Pa] = (1/98066.5) [kgf/cm2]
33 kgf • m ' J 1 [kgf • m] = 9.80665 [J]
34 J ' kgf • m 1 [J] = (1/9.80665) [kgf • m]
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35 lbf/in2 ' kPa 1 [lbf/in2] = 6.894757 [kPa]
36 kPa ' lbf/in2 1 [kPa] = (1/6.894757) [lbf/in2]
37 °F ' °C t [°F] = (t – 32)/1.8 [°C]
38 °C ' °F t [°C] = (1.8 × t + 32) [°F]
39 J ' cal 1 [J] = (1/4.1858) [cal] *
40 cal ' J 1 [cal] = 4.1858 [J]

#118 5cm = ? in

5

18(CONV)

02(cm'in)

=

LINE
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#119 100g = ? oz

100

18(CONV)

22(g'oz)

=

#120 –31°C = ? °F

y31

18(CONV)

38(°C'°F)

=

LINE

LINE
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